
 Lesson 13 Quiz                                         

SBU 2020 Lesson 13 (quiz)    

 

 
1) Partner opens 1NT and RHO Passes. 

 What do we bid with these hands? 

 

 a)  J5 b)  Q643 c)  K2 d)  AQ10943 

   AJ973   J1072   A84   6 

   Q84   Q8   A952   A87 

   843   Q95   Q1076   K87 

 

 ____________  ___________  ____________  ___________ 

 

None of these hands was suitable for Stayman. Why not? 

 

 _________________ _________________ _________________ __________________ 

 

 

 

2) Partner opens 1NT and RHO Passes. 

 What do we bid with these hands? 

 

 a)  A965 b)  K1074 c)  KQ82 d)  AQ43 

   KQ72   5   AQ84   K6 

   108   AQ8   2   Q873 

   A43   KQ953   10976   J72 

 

    __________     __________  __________  _________ 

 

Assuming you used Stayman on all these hands what do you do next if partner responds: 

 

i) 2 _________  __________  __________  _________ 

 

ii) 2 _________  __________  __________  _________ 

 

iii) 2 _________  __________  __________  _________ 


